
67

0414-042

2531-003

2500-049

0412-114

2500-048

2506-036

0412-1152533-005
2525-001

0412-202

0412-202

2532-004

2532-006

2532-005
2521-053

2521-053

0412-123

0412-215
DTDSタイプ�
DTDS type

0412-216

0412-124

0412-205

0412-119

2532-002

2506-021

0412-117

2500-049

2525-001

2533-005

0412-111

2500-068

0412-120

2529-010

0412-121

2538-002

2533-005

2532-004

2525-001

2532-004

2530-005

2530-005

2530-004

2530-004

0414-112

0412-112

2532-028

2505-001

0412-110

2521-094

2500-051

0403-011

2505-006

2505-001

2505-001

0412-122

0412-116

2509-003

0412-118

2531-003

2532-004

2500-051

2530-005

2530-005

2521-095

2521-095

2532-004

2532-012

2532-010

0412-113

2534-0072534-007

50クラスエンジン
50 class engine 

30クラスエンジン
30 class engine 

DTDSタイプ�
DTDS type

2530-004

68

�ø10 マストロック�
ø10 Mast rock
ø10 メインマスト L=235 P=182
ø10 Main mast L=235 P=182
SD ウォッシュアウトコントロールアーム�
SD wash-out control arm
ラジアスアーム P=22
Radius arm P=22
SD メインギヤ 87T-79T
SD main gear 87T-79T
SD ø10オートロ駆動軸�
SD ø10 Drive auto-rotation
SD オートロケースセット�
SD auto-rotation case
SD メインギヤストッパー�
SD main gear stopper
9T ギヤ付クラッチベル�
Clutch bell with 9T gear
10T ギヤ付クラッチベル�
Clutch bell with 10T gear
SD 軸付クラッチシュー�
Clutch shoe with shaft
SD 六角スターターカップリング�（�ø5シャフト用）�
SD starter coupling (For ø5 shaft)
SD フライホイール 3 0用�
SD fly wheel for 30 engine
SD フライホイール 5 0用�
SD fly wheel for 50 engine
SD エンジンマウント 3 0用�
SD Engine mount for 30 engine
SD エンジンマウント 5 0用�
SD Engine mount for 50 engine
SDマフラーAssy 30/50用�� � �
SD muffler assembly for 30/50

ウォッシュアウトブロックセット�
Wash-out block set

 

Brg.  ø10Xø19X5Z

Brg.  ø12X16Lワンウェイ 

Z
Brg.  ø4Xø8X3ZZ
Brg.  ø5Xø13X4ZZ
M2ナット�
M2 nut
M3ナイロンナット�
M3 nylon nut
FW5X7X0.1T
FW12X18X0.2T
ニードルピン� ø2X11.8
Needle pin ø2X11.8

カラー 3X4X8.5F
Collar 3X4X8.5F

カラー 3X5X4.1
Collar 3X5X4.1

カラー 3X5X4.5F
Collar 3X5X4.5F
ø5ボール�
ø5 ball
Oリング SS050
O ring SS050
ピボットボルト (D) ø5X5XM3
Pivot bolt (D) ø5X5XM3
ピボットボルト (E) ø5X7XM3
Pivot bolt (E) ø5X7XM3
セットスクリュー M4X4
Set screw M4X4
キャップスクリュー� M3X8
Cap screw M3X8
キャップスクリュー M3X12
Cap screw M3X12

キャップスクリュー M3X20
Cap screw M3X20
キャップスクリュー M3X28
Cap screw M3X28
キャップスクリュー M3X35
Cap screw M3X35
キャップスクリュー M2X8
Cap screw M2X8
ナベ頭ビス M2X8
Pan-head screw M2X8
タッピングスクリュー M3X12 クロ�
Tapping screw M3X12 black
皿ビス M3X6
Countersunk screw M3X6

0403-011

0412-110

0412-111

0412-112

0412-113

0412-114

0412-115

0412-116

0412-117

0412-118

0412-119

0412-120

0412-121

0412-122

0412-123

0412-124

0412-202

0414-112

2500-048

2500-049
2500-051
2500-068

2505-001

2505-006

2506-021

2506-036

2509-003

2521-094

2521-053

2521-095

2525-001

2529-010

2530-004

2530-005

2531-003

2532-002

2532-004

2532-006

2532-010

2532-012

2532-028

2533-005

2534-007

2538-002

1

1

2

2

1

1

1式�
1 set

1

1式�
1 set
1式�
1 set

1式�
1 set

1

1

1

1

1

1

1式�
1 set

1

2
2
2

20

10

5

5

2

2

2

10

5

2

2

10

10

10

10

10

10

10

20

10

10

300

900

500

200

600

2,000

800

200

3,500

4,000

3,000

500

2,000

2,500

1,400

2,800

2,300

1,000

1,500

1,200
1,200
1,200

200

200

400
300

300

2 300

500

500

500

300

400

300

300

400

400

400

キャップスクリュー M3X25
Cap screw M3X252532-005 10 400

400

400

800

100

100

200

ネジ、カラー、ボール付�
Screws, collers and balls attached

ネジ、カラー付�
Screws  and collers attached

メタル、FW付（�ワ�ンウェ�イ Brg.別売�

）�
Bushings and washers attached  (one way bearings sold separately)

ネジ、ナット付�
Screws and nuts attached
組立済�
Pre-assembled
組立済�
Pre-assembled
ネジ付�
Screws attached
ネジ付�
Screws attached
FW付�
Washers attached
FW付�
Washers attached
ネジ付�
Screws attached
ネジ付�
Screws attached
ビス、ナット、ニップル付 30/50エンジンに使用可�
 With Screws, Nut and Nipple Useble to the 30/50 engine.

コード�No.
Code No.

品　　　　名�
Name

入数�
Q'ty

価格�(円�）�
Unit price in yen

備　　考�
Remarks

SDクーリングファン�

SD メインギヤ87T
SD main gear 87T

SD cooling fan
0412-205

0412-215

0412-216

1

1

500

500

SD セカンドギヤ80T
SD second gear 80T

Bearing ø12X16L one way

1 500

スワッシュプレート�120˚ (ø10)

Swash plate 120˚ (ø10)
0414-042 1 4,500 ピボットボルト付�

with pivot bolts


